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On which fabric mildew does not
effect 7

(1) Cotton

(2) Wool stored in damp place

(3) Nylon

(4) Silk stored in damp place

(5) Question not attempted

On a Garment's lahe],'rthe most
important and wntten in bold
letters is “'|

(1) identification uf manufacturer
(2) fibre content

(3) cleaning and washing
instructions
(4) age for which garment is

appropriate
(5) Question not attempted

What does the & syml:iijﬁgiven on
the label of garments si i 7

(1) Do not tumble dry

(2) Do not bleach -

(3) Do not wash

(4) Do not dry clean

(5) Question not attempted

A____ is a copy of someone
else’s design, usually a garment
that is already a bestseller for
another manufacturer. ,

(1) Catalogue  (2) Knockoff

(8) Imitation (4) Xerex

(6) Question not attempted

Symbols for drying cl&tﬁs in a
manner Line dry, Flat dry, and Dry
in shade respectively are

@ |— 23
) s —
3) —| ¥
@ ¥ —

(5) Question not attempted
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The thimble is worn on of
right hand.
(1) Thumb (2) Ring finger

(3) Little finger (4) Middle finger
(5) Question not attempted

The yarns composed of two or more
types of fibres mixed before the
making of yarn is called

(1) Single yarn

(2) Blended yarn

(3) Homogeneous yarn

(4) Stripped varn

(5) Question not attempted

Which part of the sewing machine
helps in pushing the cloth forward ?

(1) Feed dog (2) Pressure foot
(3) Thread guide (4) Needle bar
(5) Question not attempted

Direction of warp and weft yarns in
a woven fabric is called

(1) Line (2) Seam
(3) Grain (4) Placket
(5) Question not attempted

. Princess seams are

(1) long vertical seam

(2) long rounded seam

(3) long horizontal seam
(4) short vertical seam

(5) Question not attempted

A is used to remove and
pick-out unwanted stitches/threads.

(1) Seam ripper (2) Thimble
(3) Gauge (4) Clapper
(5) Question not attempted
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16.
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c. Bics femma
d. e fammg
(1) a,b,c,d

(3) a,e, d
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(1) T fem

(2) wiew wiieH

(8) Fores item

(4) F=iea =iz

(5) A ¥H

(2) a, b, ¢
(4) a, b, d
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13"

14.

15.

6. Full

as cool colour in fashion industry ?
(1) Yellow (2) Purple

(3) Orange (4) Red

(6) Question not attempted

lines remind us of upright,
majestic figures and suggest
stability.

(1) Vertical (2) Horizontal
(3) Diagonal (4) Zig Zag

(5) Question not attempted [

A triangular folded fabric stitehed
to a point at one end and uae'& for
fitting the fabric to body cm‘vsa is
called -

(1) Dart (2) Crease
(3) Bias (4) Ease
(6) Question not attempted

Types of design in textiles are —
a. Structural design

b. Geometric design

¢. Dotted design
d. Abstract design Jioas
(1) a, b, e, d (2) a,b,c ¢
(8) a,¢, d (4) a,b,d €.
(5) Question not attempted '

9

length, broad rectangular
pleats which are made by making
two equal folds and turning them
away from each other, under folds
meeting in the centre beneath the
pleat; used quite often for school
uniform skirts, are — (3

(1) Knife pleats Ty
(2) Box pleats - i
(3) Kick pleats

(4) Accordion pleats

(56) Question not attempted
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20.

21.

is a type of knitting
pattern in which both the front and
back beds of knitting machine are
used, creating a heavier, double
knit.

(1) Pointelle

(2) Float jacquard

(3) Full jacquard

(4) Shaker

(5) Question not attempted

Select odd one out :

(1) Anarkali (2) Nayra
(3) Plazzo (4) A-line
(5) Question not attempted

Short timed fashion style is called —
(1) Fad (2) Classic style
(3) Casual style (4) Style piracy
(5) Question not attempted

is the prediction of mood
behaviour and buying habits of the
consumer.

(1) Fashion cycle

(2) Fashion forecasting

(3) Fashion adoption

(4) Fashion diffusion

(5) Question not attempted

The is the cutting guide or
pattern layout, made on a sheet of
light weight paper of the same

width as the fabric.
(1) Pattern (2) Marker
(3) Cutter (4) Shell

(56) Question not attempted
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37 3T I AEE § |

(1) Hged (2) e et
(8) dfeq sttt (4) YW

(5) Jrgeifa v

FHAFYA TEIR 7
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Fwawife_ #

(1) 94% (2) 100%

(3) 80% (4) 84%

(5) Fgeiia v

et st T 1 a9 & =it

Hﬂmﬁmﬁ'ﬁmﬁ:

(i) IgET A =G =

(ii) zﬁm%mﬁ{ﬁzﬁ) 1 T

|

(i) = % IENT TS SIS A E |
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FATC, |

(v) fesmgm Femfea =2 |

f= Ruse 4 4 vt s ST #L

(1) @), (i), (i), (iv), (v)

(2) (i), (@), (ii), (), (v)

(8) (i), (iv), (i), @), (v)

(4) (i), (i1), (iv), (), (v)

(5) gy

23.
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22,

24,

25.

is a standard of good
proportion.
(1) The Balance
(2) “The Greek Oblong”
(3) “The Latin Oblong”
(4) “The Scale”
(5) Question not attempted

Which statement is incorrect ?

(1) According to Munsel colour
system, main colours are five
Yellow, Green, Blue, White, Red.

(2) According to physicist colour
theory, seven colours are present
in Light Violet, Indigo, Blue,
Green, Yellow, Orange and Red.

(3) According to pigment colour
theory, primary colours are Red,
Yellow, Blue.

(4) None of these

(56) Question not attempted

White colour reflects the highest

percentage of light i.e.
(1) 94% (2) 100%"~
(3) 80% (4) 84%

(5) Question not attempted

Arrange the steps of workmg out a

structural design in correct:order :

(i) Select appropriate materials

(1i) Follow the guidelines
(principles) of design.

(i11) Keep in mind the use & purpose
of the object.

(iv) Plan the size, shape and colour
of the object.

(v) Execute the design .

Choose the correct answei' fmm

codes given below :

(1) @), (), (i), (iv), (v)

@ Gii), @), @), Gv), @)

(3) (1), (iv), (1), (1), (v) o

(4) (i), (i), (v), (), (v)

(5) Question not attempted
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QyghE @ s
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26.

27.

28,

29.

30.

These require highest intensities of
light

a. Kitchen b. Bathroom

¢. Dressing room d. Bedroom

(1) b,d (2) a,b, c

(8) a,¢c,d (4) a, c

(5) Question not attempted

In kitchen, W.C., storeroom and
bathroom is commonly
used.

(1) Natural ventilation

(2) Roof ventilation

(3) Cross ventilation

(4) Shaft ventilation

(5) Question not attempted

“Prospect” in residential (housing)

needs means

(1) Privacy

(2) Functionality

(3) Exterior structure of house

(4) Arrangement of windows and
doors on outer walls of house.

(5) Question not attempted

To reduce the cost of house

construction

(1) keep outer wall and partition
wall thick.

(2) keep outer wall and partition
wall thin.

(3) keep outer wall thick and
partition wall thin.

(4) keep outer wall thin and
partition wall thick.

(5) Question not attempted

Orange, purple and
secondary colours.

(1) Blue (2) Green
(3) Yellow (4) Red
(5) Question not attempted




31, _ e ® wifos S Hane 3wam ¥ | 31, All purpose buildings of more than
e 31 Afen 98 e & s o & | = hjghmt::tieg mif]m height come
under ris gs.
(1) 12 (2) 14 (1) 12 @) 14
(3) 16 (4) 18 © 16 @ 18
(6) 13 i (5) Question not attempted
82. HHM H TSI &4 T @ 32. Private zone in the house 1s
(1) FeEEHH  (2) W9 F4 (1) Study room (2) Dining-room
(3) ¥® (4) W= (3) Living room (4) Kitchen
(5) et we (5) Question not attempted
33, H T FG IR 7 33. Which statement is incorrect ?
’ : : (1) In mass flower arrangement
(1) 988 T o1 d @1 § SE @ colours are more important
HEEO B € | than line.
(2) =t @ gedt Saet O e * e (2) Heaven and earth are basic
TR | forms of Japanese flower
: arrangements.
(8) ‘WA WIER A AT R | | (8) Tkebana’ is a type of flower
(4) IFEIiEs FFad W aE guidE arrangement.
a3 R | (4) Large symmetrical arrangements
are suitable for informal
®) Hﬂﬁ'ﬂ:ﬂm occasion.
34, RS TEHiFT IR (5) Question not attempted
(1) =i (2) 3= 84. Palmet is also known as
(3) HTHE (4) =&m (1) Cornice (2) Valances
(5) Fea we (3) Cascades (4) Swag
(5) Question not attempted
35. ¥y (AR Rara # L SR 5 :
(1) TR Hw A . Venetian blinds are made up o
(1) Handmade paper
(2) ¥ | (@ Cloth
(3) s d | (3) Plastic
4) TR | (4) Hard board
(5) 3 W | (6) Question not attempted
I
36. W= TISHT % URIEE T | T8 ' 2 | 36. Preliminary drawing of house plan
(1) FREE  (2) TN | ?;“s‘_ltﬂt hlzie i
ite p oor plan
(8) Tefisam (4) ProvRY 2 (3) Elevation  (4) Foundation
(5) IrvIRG S (5) Question not attempted
o B 82
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H 1 I TR :

(1) wreh =& 25 — 50 fnft. =
(2) wreht =@ 50 — 100 fieft. F9
(3) HiEft =L 75 — 100 fopft. =
(4) ®rEft @ H 100 — 125 findt, 9

(5) AT W

37.
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(3) famm (4) oG FHat

(5) T ¥ 52
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(1) femm (2) s Ee

(8 B (4) Hifew
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_ wewdiawmd o anh i | 40
&1 F-g-=107 fmam & o st 6
nfafaftral vd s i enfar 2 |

(1) AEEEE

(2) WTEHH AT (1T UTH)

(3) WEE =

(4) oty =ré |

(5) Irgwiia ¥

e o % fordt et e 1 g e | 41,
wfty 3w el R 7

(1) To=ht o1 9eme fugh

@) e gt |

(3) urlieh /A firdh |

(4) WS |

(5) Irwia S |

The most favourable working height
for hand work while standing is

(1) 25 — 50 mm below elbow level
(2) 50— 100 mm below elbow level
(3) 75— 100 mm below elbow level
(4) 100 — 125 mm below elbow level
(5) Question not attempted

Conventional source of energy is
(1) Wind energy (2) Solar energy
(3) Electricity (4) Tidal energy
(5) Question not attempted

A is an individual unit of
pattern, which when repeated in a
manner, creates an overall pattern.
(1) Design (2) Texture

(3) Print (4) Motif

(5) Question not attempted

is a  step-by-step
description of the method used in
doing the work, which shows the
flow of movement of the worker and
the work.
(1) Memomotion
(2) Cycle graph
(3) Process chart
(4) Operation chart
(5) Question not attempted

For constructing a house which type
of soil land is best ?

(1) Clay or Alluvial soil

(2) Sandy soil

(3) Rocky soil

(4) Filled upland

(5) Question not attempted
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45.

H, FH1 u§ HE qraE S €9 TEmi 5
T i HE AT

(1) wr=fEE

(2) Wit

(3) S=a-ifaeht
(4) =R

(5) Irgafa v
R
(1) faga

(2) St

(3)

(4) wrer it fwan
(5) FFwia WA

_ &m A wa Tmfu nfafafiet
fafrafim w0 % forg fen-Fde ygm =@
TTET U TP I R |

(1) e e Ffor dfer

(2) T fa srfrm

(8) Tgra Fmior wfian

(4) ¥ arEETET AT

(5) FaiE ¥
AT % HaTa ¥ |

a. V-9 fagm

b. Ha-7ifrh

c. win-firm femm

d. SE-\EA

(1) a,b,c,d
(3) a,b, c

(5) rFaiE ¥

st

(2) a, b, d
(4) b, e, d

—— — — — —— — e Wi S S
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42,

43.

44,

The study of the relation between
work, worker and work
environment is —

(1) Ergonomics (2) Agronomics
(3) Biomechanics(4) Biometrics
(5) Question not attempted'

-

-
Foot candle is a meaaurﬁﬁent of

(1) Electricity 2
(2) Energy

(3) Distance

(4) Light intensity

(5) Question not attempted

is a national instrument
providing guidelines for repﬂatmg
building construction M\unes
across the country.

(1) National Building Cnnntructmn
Code

(2) National Green Tnhunal

(3) National Construction Code
(4) National Infrastructure Tribunal
(5) Question not attempted

are components of
ergonomics.
a. Anatomy
b. Biomechanics ~
c. Physiology

d. Biochemistry
(1) a,b,c,d (2) a,b,d
(3) a,b, ¢ (4) b,e,d
(5) Question not attempted
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(2) frgemem

(8) wgfeamdt
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Frafafea i @ 9 & vl st i
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(1) gEHfa i At

(2) gE-¥a

(3) e

(4) =R st

Fafn g % weE TiiEE s
FEedt 2

(1) faeem (2) ST

(3) "% (4) 7%
(5) Irwic S

qd (Moron) &1 %1 371,59, BT R

(1) 10-30 (2) 80-50
(3) 50 - 170 (4) 70— 90

(8) rmita we

I TP TAR 7

(1) =i eR SRy i E R F aEe

o, TS T AR BT S =i |

(2) sfu=ife ImER =T § @n w5
TS HE B9EE F g0 GO T
=18 |

(3) FFf=Nieh HATER ST=EAT § WgT FrH |

AFTN RS P FAC BT A TN E |
(4) Il ER =aen § ivE &
0 @ ZRA | AT A gtee = |

(5) IrmiRa e

l
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46.

47,

48.

49.

50.

When the wife enjoys a subordinate
position in relation to the husband,
the marital status is —

(1) Matriarchal (2) Patriarchal
(3) Polygamous (4) Polyandrous
(5) Question not attempted

Which of the following is not a
primary family stimuli in family
interaction ?

(1) Facial expression

(2) Gestures

(3) Radio

(4) Vocal expression

(5) Question not attempted

After the retirement age, family
state is called

(1) Expanding (2) Beginning
(3) Contracting (4) Coupling

(5) Question not attempted

1Q level of Moron children is
(1) 10—30 (2) 30-50
(3) 50-T70 (4) 7T0-90
(6) Question not attempted

Which statement is true ?

(1) In formal meals no food bowls
should be left on table.

(2) In formal meals each course of
food is served by host/hostess.

(3) Ininformal meals used crockery
and cutlery is removed after
every course.

(4) Food must be served from right
to left by the diners in informal
meals.

(5) Question not attempted




51‘

53.

54.

darfes e & go@ 9 e #)
e 2

(1) Sfem-areft 3 99 auEeH

(2) A graft guTEeH

(3) Torcftm gume

(4) HEUA US| HHESA

(5) Frefa W

ECiCEEE] % FER, “guHy
# § ol safaema wftfRafeat aftifem woeh
et & Fod wreff arod ol e %
SR FAT e T e HEE |
(1) =t Tl (2) s

(3) . (4) R

(5) TG 99

v whfirn & g s E -

a. HEAHA

b. wEEEH

c. AR

d. fawm

(1) b, e, d

(2) a, b, d

(3) a,b,c, d

(4) a,b, c

(5) Fwia 5

arfanfi sfaa-aw 30 faam v amarfa 2

5

(1) ofEm g & wry i =l 3§
TR 8 |

(2) vhEr 9 Qe A BRw # |

(3) fEr fawm & o s I f
safaZa € |

(4) SRER F1 g F =0T & HIE Ty
TR

(5) TG ¥

| 54.
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51.

52.

ba.

The greatest problem of adjustment
in married life is —

(1) Adjustment to mate

(2) Sexual adjustment

(8) Financial adjustment

(4) In-laws adjustment

(5) Question not attempted

According to the psychologist
counselling \‘duvera all
types of personal ations in
which one person is helpqd to adjust
more effectively to hmi‘aelf and his
environment. -

(1) Carl Rogers (2) Robinson

(3) Goode (4) Erikson

(6) Question not attempted

The major components of the
process of guidance are ..

a. Evaluation (-
b. Adjustment L)
¢. Innovation '

d. Development e
(1) b,e, d (2) a,b,d
(3) a,b,e,d (4) a, b, c
(5) Question not attempted

Family life-cycle is based on the
idea that —

(1) Families go thmugq;iremctable

stages over time. |,

(2) Families mmaﬁ;‘ static
throughout their e:ns;{enca
(3) Families allow a random

pattern of development.

(4) Families are unrelated to life
stages.

(5) Question not attempted
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(1) a,b,c, d
(2) a,b, ¢
(3) a,b,d
(4) a, e, d
(5) STt A
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55.

ET'

Esi

Which non-profit organisation is
working in Rajasthan for orthopedic
handicapped ?

(1) ICDS

(2) WHO

(3) Narayan Seva Sansthan

(4) All of these

(5) Question not attempted

Idiot, Imbecile and Moron children

are type of

(1) Mentally challenged/Retarded
children

(2) Backward children

(3) Crippled children

(4) Blind children

(5) Question not attempted

The objective of

counselling is —

a. To assist couples in developing
skills to navigate their way
through marriage successfully.

b. To identify (and possibly
resolve) areas of differences
between couples that may
become a source of conflict later.

¢. To give couples a real life
experience of marriage by
various exercises and activities.

Choose the correct answer from

codes given below :

(1) onlya&c (2) onlyb

(3) only ¢ (4) onlyaand b

(5) Question not attempted

According to Skinner the aim of
guidance in modern education is to
help every child in making choices
according to

a. Their interest b. Their abilities
¢. Opportunities d. Social status
(1) a,b, e, d (2) a,b, e

(3) a,b,d (4) a,¢c,d

(6) Question not attempted

premarital




59.

60.

El'

62.

63.

64.

farfere arew! 6 amen Ad 2 |
(1) oS < gw
(2) annfees =Y
(3) anfHfes st
(4) GRETHS HaUY
(5) Fafa yg=

e i M gem wai R | 60.

g7

(1) =il
(8) 7% feeeht
(5) Fgeita w9
R Glum % sFede % HER
& ) o 3wl g &, we ) s
w1 HfFEn R |
(1) 47

(3) 6

(5) Ireifa s
wriger | ufgensl 1 AW IftE
e = o = foRar T |
(1) 2003 (2) 2009

(3) 2005 (4) 2013

(5) FgaRA WA

fe 3 et ) 35 sfufame & smaw

W Od & Fefl < 3R E et i

a. fa=g faame wftfeam

b. = faare sfufem

c. Tafrradia mi game sifufag

d. = fen srfufam

(1) a,d, b, c (2) b,e,a,d

(3) a,b, e, d (4) b,a, e, d

(5) e

oof st =1 fafiemm fagm % smm
i & fets F sman w gfonfis

frmm 2 |

(1) 20/60
(3) 20/200

(5) rgaia I

(2) Had

(4) TEEH

(2) 38
(4) 14

(2) 20/40
(4) 20/20

|
|
|
|
|
|
|
|
|
|
|
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61.

62.

63.

64.

14

is not a problem of gifted

children.

(1) Problem of adjustment
(2) Social obstacle

(3) Economic obstacle

(4) Cognitive obstacle

(5) Question not attempted

Where is the National Institute for
Orthopedic Handicap situated ?

(1) Kolkata (2) Mumbai

(3) New Delhi (4) Rajasthan

(6) Question not attempted .

According to the of I.ndlan
Constitution all are equal beie:lﬁe the
law.

(1) Article-47  (2) Artmlelltg

(3) Article-6 (4) Article-

(5) Question not attempted

‘The Sexual Harassment of Women
at Workplace Act’ was introduced in

the year N
(1) 2003 {2:. 2009 ‘=
(3) 2005 (4) 2013

(5) Question not attempted , J

Arrange the given legislation in
order of their enactment from
earliest to latest :

a. Hindu Marriage Act

b. Child Marriage Act

¢. The Medical Termination of

‘Pregnancy Act

d. Domestic Violence Act
(1) a,d, b, c .
(3) a,b,e,d (4) b, a,c,d)
(5) Question not attempted r3

Total-blindness is medically @fined
as anything beyond the

o

=B

(2 b,c, ady

range.
(1) 20/60 (2) 20/40
(3) 20/200 (4) 20/20

(5) Question not attempted
82



65.

67.

68.

82

et (1930) & rER miEfE e
= o gfEr & FTE £ |

(1) 3 2) 5
(3) 6 (4) 4
(5) FFTRE w9

YWwangeaiEaR S Imumwd |
(1) g9-9m

(2) aftreme

() Forrer w

(4) Faiees T A T W

(5) Srgeia s
EREITEE WehR it Hegfem awt www!
=Rl

(1) T amar st &t gom § B B
(2) ;mmﬁﬁwﬁﬁaﬁm
(3 %mﬂﬂﬂﬁﬁw 4 =g B
(4) Emmﬁaﬁwﬂwﬂm
(5) ﬂéﬂﬂﬁm

T  wite] féfen & srnfa wr-wn s R 7

a. mm
b. MIEATE gEisaER
d. d gei=mER
@ &b, c d

(3) a,c, d

(5) A 5

2 a,b,d
(4) b, ¢, d

—— — e e

65.

66.

67.

68.

According to Biglow (1930) there are
stages of family in family

life cycle.
(1) 3 (2) 5
(3) 6 (4) 4

(5) Question not attempted

Patriarchal and Matriarchal type of
family is on the basis of

(1) Nomenclature

(2) Authority

(3) Residence

(4) Marriage relation

(5) Question not attempted

With Hydrocephaly type of mental
retardation child have

(1) The head is smaller than that of
normal children.

(2) The body is smaller than that of
normal children.

(8) The head is larger than that of
normal children.

(4) The body is larger than that of
normal children.

(5) Question not attempted

What comes under domestic

violence in India ?

a. Physical abuse

b. Emotional abuse

¢. Economical abuse

d. Sexual abuse

(1) a,b,c, d (2) a,b, d
(3) a,c,d (4) b,c, d
(5) Question not attempted




69.

70.

T

72.

Tz, fafem, fwem @ ofEn & foae
et Froba &3 Y eman 7 FEAT 8 7
(1) Taame &g wmfees e

(2) foamE &g waATEHS qeata

(3) foame #q #fgs aeman

(4) Torame ¥ wAmiAe deE

(6) I w =

e TR @, SR gy e
o = F WA W , (vt & 98
mﬁrm%nmﬁwa@ﬁrﬂ)

o8 T AT &
(1) w2 (2) wafa
(3) wafem (4) ™

(5) FFwIE WA

et TR # Fefofes § 8 8
foydrear 39 fft & 2 ford foeeht
FEMER HI HJHH & & vgd 39
:ﬁﬁamwnﬁ?nﬁaﬁm%?

(1) geT r-

(2) whemrfieran o9

(3) qEIFHH

(4) Frlreor groan

(5) FTRE W

FHAA A TATE R 7

(1) Faare v arEhiifies amfoes e ? |

(2) mmﬁw@j@mm
e |

(3) ﬁﬂmﬁmwzﬁfﬁ@hmmaﬁl

s ® ) o)

(4) &g Frame wfufrm, 1955 4 witm
el

(5) SFwIE WA

|
|
i
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|
|
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|
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69.

70.

71.

Capacity  for  comprehension,
application, analysis and ability to
take right decisions for the family
designates

(1) Social readiness for marriage

(2) Emotional readiness for
marriage

(3) Intellectual readiness for
marriage

(4) Psychological readiness for
marriage

(56) Question not attempted

What is the quality of a counsellor,
when they put themselves in
another person's place (even if that
person is of a different gender or
from different culture) known as ?
(1) Insightfulness

(2) Empathy

(3) Introspection

(4) Comforting

(5) Question not attempted

Which of the following attributes of
an innovation deals with the degree
to which an innovation may be
experimented with on a limited
basis before deciding to adopt ?

(1) Compatibility

(2) Trialability

(8) Predictability

(4) Observability

(5) Question not attempted

72. Which statement is false ?

(1) Marriage is a universal social

institution.

(2) Marriage plays an important
role in socialization.

(3) Mehar is a dowry given to
groom’s family.

(4) Hindu Marriage Act was
implemented in 1955.

(5) Question not attempted

82
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74.

75.

76.

77.

82

Ao Hfget & STAR FHEG i ;
a. Hehasml b. H&a aE®
c. IS d. wHmeam
e. Uv%

(1) a,b,c,d, e

(2) b,c,d,e,
(3) e,a,d, b, c
(4) e,a,b,d, c

(5) FHFwia weq
YT - A : gen Earfiafrad |
FY-B: FENFEETE FAR |

(1) F9 A 3 BeERigf & |

(2) %Y A 3 B Tom £ |

(3) FaA HUT A TER |

(4) FaaFUT BEA R |
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“Fg ot A I sETErs SEEE S
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(1) = fw o

(2) e T A

(8) &=

(4) P

(5) IIgola ¥

%% 5. U9 % H9R 4z ot
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(1) vfegfeafem  (2) = Afea

(3) g wtEw (4) T HIEH

(5) e ¥

forra v W gEn ATee §

ok J

(1) &= (2) =R

(3) W= (4) &

(5) gefea s
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73.

74.

75.

i,

Arrange the following steps of
communication process as per the

‘Westley Machean Model' :

a. Encoder b. Decoder
¢. Receiver d. Channel
e. Sender

(1) a,b,c,d,e (2) b,e,d,e, a
(3) e,a,d,b,c (4) e, a,b,d, ¢

(6) Question not attempted 713

Statement - A : Cammumcaﬁ%] is
a two way process.

Statement - B : Cammumcapan is
an Art only. P

(1) Both statements A and B are
correct.

(2) Both statements A and B are
incorrect.

(3) Only statement A is correct.

(4) Only statement B is correct.

(5) Question not attempted

“All  educational and action
programmes in agriculturé- ‘are
communication.” The deﬁnitio&.?aaa
given by
(1) J. Paul Leagan

(2) Coleman & Marsh

(3) Weaver

(4) Gist

(5) Question not attempted

Frank E. Axe's model of
communication is also known as

|
M~
o

(1) Feedback model
(2) Sender model
(3) Soupe model

(4) Dance model g‘j
(5) Question not attempted E:j:a
Leagan’s and lo's
communication model has 4
elements.
(1) three (2) four
(3) five (4) six
(6) Question not attempted

(=]
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78.

79.

80.

81.

82.

Statement — I : Feedback is an
error-correcting mechanism.

Statement - II : Feedback is
difficult in Mass media.

(1) Both Statements are true.
(2) Both Statements are false.
(3) Only Statement I is true.
(4) Only Statement II is true.
(5) Question not attempted

Which of the following materials
cannot be considered as 'two-
dimensional visual aid ? :
(1) Chalk board (2) Poster

(3) Flashcard (4) Model

(5) Question not attempted

Community Development Programme
started in India

(1) 15t January, 1960

(2) 2nd October, 1952

(3) 15t January, 1952 .y
(4) 20 QOctober, 1960 o
(5) Question not attempted '

Who is the Chairman of the
Governing Board of DRDA ? ;
(1) Local MLA

(2) Local MP

(3) District Collector

(4) Sarpanch

(6) Question not attempted

Element of information which is
communicated or interchangeg@--l_i.s
known as in general
meaning. Ty’
(1) Source Ll
(2) Communicator o,
(3) Message

(4) Feedback

(5) Question not attempted

82
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83.

84,

85.

86.

87.

88.

18 not included in mass
approach.
(1) Demonstration method
(2) Radio
(3) Newspaper
(4) Printed material
(5) Question not attempted

Following is not an extension

programme of ICAR.

(1) Lab to Land Programme

(2) Krishi Vigyan Kendra

(3) National Demonstration

(4) Integrated Child Development
Services

(5) Question not attempted

The Applied Nutrition Programme
which started in 1959 in Orissa was
previously known as

(1) Expanded Nutrition Prugramme
(2) Special Nutrition Programme
(3) Mid-day Meal Programme

(4) School Lunch Programme

(5) Question not attempted

The Ministry of Agriculture, Govt.
of India has initiated a programme
for farmers to get suitable solutions
for their problems.

(1) MANAGE

(2) AGREX

(3) Farm Advisory System

(4) Kisan Call Centre

(5) Question not attempted

The 18 the largest and
richest Agricultural Information
System in the world.

(1) DSS (2) The Web

(3) GIS (4) IMM

(5) Question not attempted

National Institute of Nutrition is
situated at :

(1) Bengaluru (2) Hyderabad
(3) Chandigarh (4) Pune

(5) Question not attempted
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89.

90.

91.

92.

The 5 steps in the innovation-

decision process are

(1) Persuasion, knowledge, trial,
decision, confirmation

(2) Knowledge, testing, persuasion,
decision, confirmation ¢/,

(3) Knowledge, persuasion,
decision, implementation,
confirmation <r

(4) Persuasion, knowledge, -trial,
decision, implementation
(5) Question not attempted

Use of lodized salt is an example of
(1) Over adoption

(2) Mandate for adoption

(3) Social marketing

(4) Below adoption

(6) Question not attempted

A more rigorous and mdehtlmeed
method of measuring adoption by
the formula of Adoption Qi.tetlent
was developed by

(1) Ray (1967)

(2) Chattopadhyay (1963)

(3) Bose (1965)

(4) Roger (1970)

(5) Question not attempted

Training of Rural Youth fer Be]f

Employment  (TRYSEM)

introduced in . Yo
(1) 1989 (2) 1979 *5
(3) 1969 (4) 1959 I

(5) Question not attempted

Statement — A : Desktop Publishing
(DTP) combines typesetting and
graphics production.

Statement - B : DTP is expensive
and time consuming task.

(1) Both A and B are correct.

(2) Only A is correct.

(3) Only B is correct.

(4) Both A and B are incorrect.

(5) Question not attempted
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(3) e,d,c,b,a
(4) d,b,c,a, e

(5) et W

e T e e e e ey m—
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95'

96.

97.

Who is known as Father of

Television ?

(1) Graham Bell

(2) Samuel Morse

(3) Clark

(4) John Baird

(5) Question not attempted

According to J. Paul Leagan, each
episode of communication has at
least three phases :

1. expression 2. interpretation and
3.

(1) Interaction

(2) Response

(3) Representation

(4) Determination

(5) Question not attempted

Empirical research includes —

(1) Developing new abstract ideas
or concepts or theories,

(2) Generalizations and theory
formulations.

(3) Studying events or ideas of the
past.

(4) Deriving conclusions capable of
verification through observation
Or experiment.

(5) Question not attempted

Arrange the steps of the adoption
process in correct sequence :

a. Awareness

b. Interest

c. Evaluation

d. Trial

e. Adoption

Codes :

(1) a,b,c,d,e (2) a,¢,d, b, e
(3) e,d,c,b,a (4 d,b,c,a,e
(5) Question not attempted
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99.

100.

101.

102.
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98.

‘1 99,

100.

101.

The main text of the report should
not have the following :

(1) Introduction

(2) Summary of findings

(3) Main report

(4) Questionnaire

(5) Question not attempted

Which one is not a charactenat.m Gf

Research ? :

(1) Research improves the new
knowledge.

(2) The research process is luglcal
and objective based.

(3) Research process is scientific,
well-arranged and well-planned.

(4) Every research does not have
conclusion.

(5) Question not attempted

Which of the following is not a ty'pe
of research problem ?

(1) Empirical problem

(2) Experimental problem
(3) Analytical problem

(4) Administrative problem
(5) Question not attempted

The range of
correlation is —
(1) More than +1 and less than -1
(2) More than +1 and less than 0
(3) Between 0 and -1

(4) Between +1 and -1

(5) Question not attempted

coefficient of

102. Which does not come under primary

N

source ?7

(1) Questionnaire

(2) Schedule

(3) Personal Interview

(4) Documentary Material
(5) Question not attempted
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(1) 7& sif=m fesd &

(2) 9% T Feafs sema |

(3) @7 s vefa 1 FfRm =T |
(4) T | 15 T T R |

(5) FFaRa s

103.

104,

. Which

The aim of the research work is to
obtain real knowledge about the
research problem and present the
golution to the problem, then this
type of research is called

(1) Descriptive Research Design

(2) Diagnostic Research Design

(3) Exploratory Research Design
(4) Survey Research Design

(5) Question not attempted

Statement — A : Research methods
or techniques refer to methods
the researcher uses in
performing research operations.

Statement — B : Scope of research
methodology is wider than that
of research methods as it
includes the logic behind
methods used.

Choose the correct answer from

codes given below :

(1) Only A is true.

(2) Only B is true.

(3) A & B both are true.

(4) A & B both are false.

(5) Question not attempted

_ method is most commonly
used method in studies related to
behavioural science.

(1) Observation (2) Survey
(8) Experimental(4) Interview
(5) Question not attempted

statement is true about

hypothesis ?

(1) It's a final conclusion.

(2) It's a tentative statement.

(3) It's the last step of scientific
method.

(4) None of these

(5) Question not attempted
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(5) FwIE 9%
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107. The independent variable which is
often called the treatment or

experimental variable is
represented by the symbol

(1) Y 2 X

(3) ‘E 4) T

(5) Question not attempted

108. Which of the following statements is

correct ?

(1) Closed form questionnaires are
hard to administer.

(2) Closed form questionnaires
permit to answer freely.

(3) Pictorial form questionnaire is
suitable tool for gathering data
from children.

(4) Closed form questionnaire is
difficult in tabulating.

(5) Question not attempted

109. Statement - A : Snowball sampling
is cost effective.

Statement - B : A cluster sample
usually produces a larger
sampling error than a simple
random sample of same size.

(1) Both A & B are correct.

(2) Only A is correct.

(3) Only B is correct.

(4) Both A & B are incorrect.

(5) Question not attempted

110. Essentials and characteristics of
hypothesis :
a. Clarity
b. Empirical reference
¢. Specificity
d. Subjective
(1) a,b,c, d (2) a,b,d
(3) a,b, c (4) a,c, d

(5) Question not attempted
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111.

112.

113.

114.

115.

116.
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111.

112.

113.

114,

115.

116.

Which of the following is a type of
non-probability sampling ?

(1) Quota sampling

(2) Cluster sampling

(3) Systematic sampling

(4) Stratified Random samp]m‘g:’*’
(5) Question not attempted

Random sampling is also lmuwms
(1) Probability sampling o
(2) Non-probability sampling ()
(3) Purposive sampling

(4) Judgemental sampling

(6) Question not attempted

Interviewer when ask questions

according to schedule is called
(1) Informal interview

(2) Formal interview (%
(3) Group interview ~J
(4) Qualitative interview ,b.

(5) Question not attempted

The other name for cu‘@u
diagram is
(1) Global diagram

(2) Pie diagram

(3) Cylindrical diagram
(4) None of these

(5) Question not attempted

Which of the following does not fall

under the procedure of Analysig and

Description (explanation) ? nq

(1) Data collection

(2) Preparation of an outline hgqad
on data ™

(3) Weighing the data

(4) Formulation of concepts

(5) Question not attempted

are specific citations used
within the text to support
arguments,

(1) Bibliography

(2) References

(3) Both Bibliography & References
(4) None of these

(5) Question not attempted
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117.

118.

119.

120.

According to Goode and Hatt the
preparation of report is step
of research.

(1) First (2) Second

(3) Last (4) Unnecessary
(5) Question not attempted

Type of the following rssaarch
studies social conditions, s
phenomenon, social methods gn
social structure

(1) Quantitative Research
(2) Pure Research .
(3) Exploratory Research Py
(4) Descriptive Research )
(5) Question not attempted

refers to the process of
assigning numerals or other
symbols to answers so that collected
responses can be put into a limited
number of categories or classes. . .
(1) Central editing -
(2) Class interval classification
(3) Tabulation ¢ )
(4) Coding 3
(5) Question not attempted ‘e
Problem of language mainly occurs in
(1) Hypothesis formation
(2) Subject selection
(3) Report writing
(4) Bibliography writing
(5) Question not attempted

. =% i
e LS
' =l v

21. The major difference betwee

questionnaire and a schedule is —

(1) Questionnaire is filled by the
enumerator and Echedulai,w
filled by the reapnndant o=

(2) Questionnaire is filled by ﬂ;bq
respondent and snhedule is
filled by the enumerator.

(3) Questionnaire has only yes/no
guestions.

(4) Schedule have only close ended
questions.

(5) Question not attempted
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122‘

123.

124.

125,

126.

127.

The normal breathing rate of
Neonate is ;

(1) 40/minute  (2) 25/minute

(8) 20/minute  (4) 16/minute

(6) Question not attempted

Adipose tissue in adults consists of
about fat and of
water.

(1) 75%, 23% (2) 23%, 75%

(8) 50%, 50% (4) 30%, 70%

(5) Question not attempted
Diarrhoea occurring in infants and
children may be

(1) Only functional

(2) Only organic

(3) Both functional and organic

(4) None of these

(5) Question not attempted

Metabolic rate increase during fever
(1) 10% per degree Fahrenheit

(2) 13% per degree Fahrenheit

(3) 13% per degree Celsius

(4) 10% per degree Celsius

(5) Question not attempted

The reference Indian adult man is
19 — 39 years old with a body weight
of kg and the reference
Indian adult woman is 19 — 39 years
old and weighing kg.
(according to ICMR-NIN (2020))

(1) 60, 50 (2) b5, 45

(8) 75, 65 (4) 65, 55

(5) Question not attempted

A healthy infant his birth
weight by first six months.

(1) doubles (2) triples

(3) quadruples (4) reduces

(5) Question not attempted




128, THURY % WHG FiieE HT S HH1 2 B I 128. Folic acid deficiency at the time of

129.

130.

131.

132.

THaT R -
(1) Yo 6 ol o amg & vea fadl

HTaefTor U T 1 GEGHIT 2 & AT
& Spel 7% o s = & -

(1) FrEEE T

(2) SoFEa fm

(3) wETIHHI

(4) wf=Zraer yufat

(5) FATTE 9

vaga - & foh| W # T4 1 ARH-TEH
L 3
(1) args
(3) =TA

(5) Fwiiea ¥

Sitadam vfawa & o e s 1=
wE AR 7

(1) SeeE

(2) e & ISR

(3) vad T ST

(4) =TT

(5) ¥ w¥

foeq o e Fred wafm 2 7
(1) R Fai Haro

(2) & qroeh- FHAN

(3) EreieTieT Tl HaE

(4) Fratersge 1 F

(5) FrwiE g

(2) gt
(4) F954 7ol

|
I
|

|
|
I
|
I
I
|
|
|
|
I
I
I
|

28

129.

130.

131.

132.

conception can cause —

(1) Premature rupture of foetal
membranes

(2) Hypoplasia

(3) Spina bifida e
(4) Morning sickness -J
(5) Question not attempted -‘I‘E-
8y |
o

The deoxygenated blood is cartiéd to
the lungs via the pulmonary trunk
through —

(1) Pulmonary artery

(2) Pulmonary vein

(3) Aorta

(4) Bronchial arteries

(5) Question not attempted *

In which part of the respiratory
system gaseous exchange take place ?
(1) Alveoli (2) P o
(3) Larynx (4) Trach&q_@
(5) Question not attempted

What is the main component of
blood responsible for oxygen
transport ?

(1) Platelets

(2) Red Blood Cells

(3) White Blood Cells

(4) Plasma

(5) Question not attempted

|

LY
G
e,

.
e
ii: *

!
i

Y
The term ‘hidden hunget”, is
associated with N

(1) Protein energy malnutrition

(2) Micronutrient malnutrition

(3) Chronic energy deficiency

(4) Carbohydrate deficiency

(5) Question not attempted
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133.‘

134.

135.

136.

137.

Lipolysis splits triglycerides into —
(1) Lipids and carbohydrates

(2) 3 lipid molecules

(3) Lipids and fatty acids

(4) Glycerol and fatty acids

(5) Question not attempted

Sucrose, maltose and lactose are

(1) Monosaccharides

(2) Disaccharides

(3) Homo polysaccharides
(4) Hetero polysaccharides
(6) Question not attempted

Which one is food borne disease ?
(1) Hepatitis A (2) Polio

(3) Chicken-Pox (4) Small-Pox
(5) Question not attempted

Major reason of ‘Botulism’ is food

intoxication caused by

(1) Bacteria

(2) Yeast

(3) Moulds

(4) Ingestion of adulterated
mustard oil

(6) Question not attempted

also known as Antisterility

vitamin.

(1) Vitamin D  (2) Vitamin A
(3) Vitamin E  (4) Vitamin C
(5) Question not attempted

The synthesis of glucose from non-
carbohydrate sources is called —

(1) Glycolysis

(2) Glycogenesis

(3) Gluconeogenesis

(4) Glycogenolysis

(5) Question not attempted
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139.

140.

I 141.

142.

Nightblindness is due to which
deficiency ?

(1) Vitamin C  (2) Niacin

(3) Vitamin B1 (4) Vitamin A

(5) Question not attempted | .

Fullform of RUTF is — o

(1) Ready to Use and Transfer Food

(2) Ready to Use Therapeutie Food

(3) Recommended Unit, | of
Therapeutic Food 7

(4) Recommended Unit of Taking
Food.

(5) Question not attempted

Germinated cereal flour — ARF —
stands for

(1) Anytime Ready Food

(2) Amylopectin Rich Food

(3) Amylase Rich Food '

(4) Available Ready Food |

(5) Question not attempted C: 9

Which of the following services are
not offered under Integrated Child
Development Services ?

(1) Immunization

(2) Institutional Delivery

(3) Referral services

(4) Supplementary nutrition
(5) Question not attempted

LN |

. Fullform of MUAC is - . §
(1) Most Urgent Advanced
Communication “1

(2) Mid-Upper Artery Coronary
(3) Mid-Upper Arm Circumférence
(4) Mild Urinary and Coronary

(5) Question not attempted

. World Health Day is celebrated on -

(1) 7 August (2) T July
(3) Tth May (4) Tt April
(5) Question not attempted
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145. Antyodaya Anna Yojna (AAY) was

launched in
(1) 2000 (2) 2001
(3) 2002 (4) 2003

(6) Question not attempted

146. Which of the following is not a

principle of design ?

(1) Balance (2) Proportion
(3) Beauty (4) Harmony
(5) Question not attempted

147. For short and stout women, the

garment select with

(1) Vertical lines

(2) Horizontal lines

(3) Bold design

(4) Thick fabric

(6) Question not attempted

148, is the first element to
which consumers respond, often
selecting or rejecting a garment.

(1) Price (2) Size

(3) Colour (4) Fabrie

(5) Question not attempted

149, Neutral and soft soaps and

detergents are used to clean

(1) Woollen cloth (2) Cotton cloth
(3) Nylon cloth (4) Teryeott cloth
(6) Question not attempted

Increased needs of to
ensure absorption and utilization of
calcium for foetal bone growth.

(1) Vitamin E  (2) Vitamin K
(3) Vitamin D  (4) Vitamin A
(6) Question not attempted
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